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" void stations(int N, int X[]) ; ¥&=59 74 N
X[0..N-1]5 QA2 ¥tk o7]A, x[1= Z7] Nl #E(vector)o]il, x[i]9] 2t
8% g2y esxaoz AFHl AT,

ol2f&#2 stations() & AolN G &5 AHEStol §& AlEstolof oitt.

* void answer(long long Y[]) : Z7] N-19 H®H yY[]1E& ANEst= T4
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void stations (int N, int X[]);

o] &4t YollA HYst Zut o] FAstojop gttt 28, 02 45 UEOA YA
o2 AgY 4 otk AIEF Lt YERL 2AsHAY O o] F2stelA L ot
grader ©f&]

#0JAl= grader+= Tt 22 AR U5 Het:

* line 1: N (N : ¥¥&=352] 7i4)

* line 2: N7RQ] A 2y @, -+ oy (7, 0 5= YA])

ZOo|Al = grader= 7} i=1,..N=10] tfsiA, A} &0 & 7hsoh i-AE5=52 & 48] &9
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MHE|A3T 2 [ 21 points]
e N < 30.

MNHE|A3 3 [ 17 points]
« N < 60.



AN EEjA3 4 [ 51 points]
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